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e Please check that this question paper contains 8 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 29 questions.
e Please write down the Serial Number of the question before attempting it.

¢ 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

- (iii) All questions in Section — A are to be answered in one word, one sentence or as per

65/1/1

(i)  All questions are compulsory.

(ii)  The question paper consists of 29 questions divided into three sections A, B and C.
Section — A comprises of 10 questions of one mark each, Section — B comprises of
12 questions of four marks each and Section — C comprises of 7 questions of six

marks each.

the exact requirement of the question.

(iv) There is no overall choice. However, internal choice has been provided in 4
questions of four marks each and 2 questions of six marks each. You have to attempt

only one of the alternatives in all such questions.

(v)  Use of calculators is not permitted. You may ask for logarithmic tables, if required.

qug - T
SECTION - A

TR HE 1 9 10 T TOH U 1 S H E |
Question numbers 1 to 10 carry 1 mark each.

Tl Y SR G % e W, WA + U fremart whea &, st et a, b e R - {0)

%%rqa*b=a5—bmm% 1 g 2 * (x * 5) = 10 §, & x T HE TG ST |

Let * be a binary operation, on the set of all non-zero real numbers, given by a * b

forall a, b € R - {0}. Find the value of x, given that 2 * (x * 5) = 10.

g sin(sin‘1751‘+cos‘1x)= 1 &, at x 1 99 71T ST |

If sin (sin‘1 % + cos™! x) = 1, then find the value of x.
7 0
&, @ (x - y) N 9F T HT |

aﬁz[i j}’[(l) ” 10 5

of} ML M e
s x1tLo 1510 5 IRdG-9)

P g e 9« e R (1 11| @ |0,

Solve the following matrix equation for x :, [x 1] | 5 0 :' =0.
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2x 5 6 -2
|=| - ‘%,a}xasrtrmi%af@m

}’6 -2

‘ 7 3 ' , write the value of x.

6. (Nhj;jmu%-ma%ﬁaq |

Write the antiderivative of (3\/)2 + é)

3
dx
7. mmaﬁhq:fgﬂz
0

3
Evaluate : J dx

9 + x2
0

8. W 1+3)+ 7k = wRkw 21 - 3] + 6k W vty T BT |

Find the projection of the vector 1 + 3j\ + 7k on the vector 2§ — 33\ +6k.

9. IO A WATF ARV EF 2 + D N H IS TRWE, A 2 1 b % S 51 BT
T BT |

= . o, .
If 2 and b are two unit vectors such that a + b is also a unit vector, then find the

angle between 2and .

10. U GHAE H WY THEO T HAC S & (2, b, ¢) F AF A & T FHAA
T -G+]+0)=2Fwwme
Write the vector equation of the plane, passing through the point (a, b, ¢) and parallel

totheplane?-(’i\+j\+1%)=2.
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11.

(@ B)R(c,d)Ia+d=b+cawrafenfirs ¥ | g FioT 6 R wb gosrer oy § 1 g

12.

13.

14.

65/1/1

gug -
SECTION -B
T HE 11 | 22 T TS T 4 SH B |
Question numbers 11 to 22 carry 4 marks each.

T [(2, 5)] i 3 T |

Let A ={1, 2, 3,....., 9} and R be the relation in A X A defined by (a, b) R (c, d) if
a+d=b+cfor(ab), (c,d)in A X A. Prove that R is an equivalence relation. Also

obtain the equivalence class [(2, 5)].

1 3/1+sinx+\/1—sinxj_gc__ ( _15)
fs FifTT & cot (\/1+sinx—\/1——sinx =75x€ (0,7}

Hqdr

g =ifse 7% 2 tan! @') +sec™! (%é) +2 tan”! (%) = %

: \[1+sinx+\/1—sinxj x ( n)
Prove that cot™! =% =1
rove fhatco (\]1+sinx—\]1—sinx 2:%€ 0%

OR

1 52 1
Prove that 2 tan™! (g) +sec! (‘37[) + 2 tan™! (gj = '}

RO 5 T[T BT VAT R o Fiw i
2y y—z-x 2y

2z 2z z-x-y |=(x+y+2)?
X-y-z 2x 2x

Using properties of determinants, prove that
2y y—Z-Xx 2y ’
2z 2z Z2-x-y |=(x+y+2z)>
X-y-z 2x 2x

1-— 2
tan~! (@w cos™! (2x\[1 - x2) & Tt STt T WY, STERE x 2 0 § |
. . 1-x2) . '
Differentiate tan™! (@ with respect to cos™! (2x\/1 - xz), when x # 0.
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15, oy = e e b e L (WP 2

y \dx,
Py _ (Qx) _Y_
If y = x*, prove that a2y \dx =0.

16. o€ 3T AT HITT T B £(x) = 304 —4a3 - 1242 + 5
(a) TR aEmEE |
(b) THRRFEEAY |
dqYar

TFx=asin’@TMy =acos’0F o d 0 =§WTW3'@TH$IT AT & T T
HIT | |
Find the intervals in which the function f(x) = 3x* — 4x3 — 12x% + 5 is

(a) strictly increasing
(b) strictly decreasing

OR
Find the equations of the tangent and normal to the curve x = a sin3@ and y = a cos30 at
T
6= e

sin?x - cos2x

6y
R Jsmx+cos &

4

T I BT f(x—3) X% +3x- 18 dx

sin®x + cos®x

Evaluate : f — . dx
sin“x - cos“x

OR

Evaluate : j(x —3nx% +3x—18dx

18. WW%/]-y2dx+§dy=OWW€ﬁﬁﬁﬁﬁEﬁ'ﬂT%%y:lGrq’
x=0%¢ 1

Find the particular solution of the differential equation e*\/1 — y2 dx + % dy = 0, given
thaty = 1 when x = 0.
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19.

20.

21.

22.
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T STereheT WHISHIOT I BT T

2
-1

Solve the following differential equation :

d

(- D+ 2y =7
d 2

(x2—1)§+2xy=x2——-—~_.1.

fepeel it il 2, b, © % R fog iR e

Z+0,5+0,0+2]=2[3,%,7]

Hqar

whw 2, b CRERF A+ b+ c=0wr|3|=3,|b|=5mm|2|=7¥ 1 T b
% S T HIVT AR BT |

...)
Prove that, for any three vectors a, b, I
—
c

]

-—)
a
I I - =
a+b,b+c,c+a]=2[a,b

OR
Vectors5’,—B)and?aresuchthat?+_g+—g=_(_))andl_efl=3,|—b)|=5and|-6)|=7.

Find the angle between aand f;

wwie o vt 1 TE2 2Dy 222 Yot £ e g £ 1 v
i fog «ft Fr i |

Show thatthelmesx;1=y;3=z;5 andx;2=y;4=zg6intersect. Also find

their point of intersection.

mﬁ%méﬁaﬁaﬁﬁmmmmw% | g frdt Tiem & < 7= €,
At SHT el & oIl 8RSt GuiaeY T T g, afg a8 fear T g e

(i) &Y BT T TEH ¢ |
(i) 9T FHH TH T ASH ¢ |

Assume that each born child is equally likely to be a boy or a girl. If a family has two
children, what is the conditional probability that both are girls 7 Given that
(i) the youngest is a girl.

(i) atleast one is a girl.



qug-q
SECTION - C

TR HEAT 23 | 29 T T&F UV 6 SH F L |
Question numbers 23 to 29 carry 6 marks each.

23. ﬁﬁWPWQmﬁ?ﬁgﬁaﬁﬁﬁﬁmﬁmwmmmaﬁ%w

m@wﬁwnﬁ%ﬁﬁw@mwwﬁwﬁ%mmmw |
Two schools P and Q want to award their selected students on the values of Discipline,
Politeness and Punctuality. The school P wants to award ¥ x each, ¥ y each and X z each
for the three respective values to its 3, 2 and 1 students with a total award money of
% 1,000. School Q wants to spend ¥ 1,500 to award its 4, 1 and 3 students on the
respective values (by giving the same award money for the three values as before). If
the total amount of awards for one prize on each value is Z 600, using matrices, find
the award money for each value.

Apart from the above three values, suggest one more value for awards,

24, w%ﬁgémmwmmmmwmmﬁaww%m%.

Show that the semi-vertical angle- of the cone of the maximum volume and of given

1
slant height is cos™ NS

/3
dx

/6
/3

Evaluate : J

n/6

26. WO T H g 2 + y2 = 32, %@y:x@x-w@ﬁ%mwémmﬁﬁq [
Find the area of the region in the first quadrant enclosed by the x-axis, the line y=x
and the circle x2 + y2 = 32,

dx
1 +4Jcotx
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fagatt A2, 5, -3), B(=2, -3, 5) 41 C(5, 3, -3) &R fiRa wwaer 1 g (7, 2,440
T R |

FYgar

Rg(-1,-5,-10)F@ T =A-J+2%k+A@l+4+ 2 mnemm 7T - (-7+k) =5
% wiese g & o = g A HIT |
Find the distance between the point (7, 2, 4) and the plane deterrmned by the points
A2, 5,-3), B(-2,-3,5) and C(5, 3, -3).

OR ‘
Find the distance of the point (-1, =5, —10) from the point of intersection of the line

T=21-5+2k+A (31 +4]+2k) and the plane 7 - (i -] + &) =35.

28. T 8 B UH AR F oS T e W ¥ | S u e % fon see
% 5,760 ¥ T HeRW & o afus ¥ St 20 i % ol W ¥ | U o (e
TR 1 e T 360 &, WG TF @9 @ FoT ATl TR e T 240 ¥ | 9 T
TR T Y T 22 9 T A Tehall § T @19 § e aell Wei bt 18 T W | A
I R 97 @ T Tt T S g 8, g aiv o e e e wRE SR stfusma
T B 2 SIS B T g T T S WE FRT & HIT |

A dealer in rural area wishes to purchase a number of sewing machines. He has only
% 5,760 to invest and has space for at most 20 items for storage. An electronic sewing
machine cost him ¥ 360 and a manually operated sewing machine ¥ 240. He can sell
an electronic sewing machine at a profit of ¥ 22 and a manually operated sewing
machine at a profit of ¥ 18. Assuming that he can sell all the items that he can buy,
how should he invest his money in order to maximize his profit ? Make it as a LPP and
solve it graphically.

129, ARTF 52 TR P U E @ T O G A | 99 v § ¥ A e et st € (g

nfereT W) St g & O o € | @I T % g ¥ ER T Wit § 2
arqan

15 Soat & T o A @, P 5 ffeql aeet €, ThuE wa Wowne Hied 4 Sosi # 06

vftreet Frerren T | Sfeqet el Y HE i MiAwT $e TG HIAQ | I S H A [

ST |

A card from a pack of 52 playing cards is lost. From the remaining cards of the pack
three cards are drawn at random (without replacement) and are found to be all spades.
Find the probability of the lost card being a spade.

OR
From a lot of 15 bulbs which include 5 defectives, a sample of 4 bulbs is drawn one by
one with replacement. Find the probability distribution of number of defective bulbs.
Hence find the mean of the distribution.
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